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1. T i1k HIE TaE ot espfiaT g 7 S |1 T qO ST, feeten vt fee

b (=
ey 2 U D

Q_N
(3) O D (4) U O

Tschokwe people complete Sona patterns using a stick without removing the stick

from the ground. Select the odd pattern from given options.

e QN
T 0

ey

Q_N
3) Q D 4) U D
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2. TS 6 F=A1 ATehgd ST B0 afehrel Het forfevamard sneen amgfeawiten Fageen
FaThgA FaATA [eaarden Ui wifedl Mot HRE BNl A 57 FA AR
Tt fresauamaTdt W et wamaeh gl s fomd o 7= aeed. Yo fAdied
mmm:mw%@%ﬁzmmm.mmﬁaﬁaﬁﬁmaam.
TG, TN ST 33 SITshgd Wiawg fiesten degt al g sie.

1 weudla Ieen e fashierEnd) fadl @< amen amn feve soamard! sl T
TEeTe Afgdi= Hag .

(1) v fordided @ @ @a:= g foed fobte femeacen fosmrmh aen
(2) I 57 Fearn T ferfeeh
(3) wee fahert fhua 6.6 T3 312

(4) 33 g wiere fee

Umed wanted to collect information about the measures of garbage disposal
employed by randomly selected families, for writing a column in a daily that
is published by his 6th standard class. He wrote to 57 families requesting for
completing questionnaire designed for getting needed information. He enclosed a
self addressed stamped envelope with each request. The stamps cost Rs. 6.6 each.
He was happy to receive replies from 33 of them.

Select one of the pieces of information given above that is not needed to work out

how much this exercise cost Umed in postage.
(1) Number of self addressed stamped envelope enclosed with each request
(2) Umed wrote to 57 families

(3) The stamps cost Rs. 6.6 each

(4) 33 families replied
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Jana goes to work by cycle. The first quarter of her route is uphill, then the rest
is flat. She maintains a constant speed, both uphill and on the flat, but her speed
on the flat is twice her speed uphill. Select one of the following graphs that best
represents Jana’s journey to work.
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5. Welid 3Mehdia T SATEETRRT= T2 rafae 3Ted. g fshehede, TR SMHEE & Ferle
gioret guffed, &

1 SRt STaet 3TRd U1 Tohenedg @ SMIFRR AT8id d T geifael 318 7

(1) R 2 T 3) Q 4) S

In the following diagram, three groups of professionals are represented by following
figure. The hexagon represents the cricketers, the rectangle represents engineers
and oval represents the doctors, then

the persons who are doctors but are not engineers and cricketers are represented by

(1) R @ T 3 Q 4 S
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6. 17017 1900 wd frdl ofiu a¥ smed (S8 9 gifase amed) ?

(1) 50 (2) 49 (3) 48 (4) 47
How many leap years are there from 1701 to 1900 (both years are included) ?
(1) 50 (2) 49 (3) 48 (4) 47

7. TrEa! MICTATE STrhdl SR, ot I5ea 9 STe SISl 3Tl S s Tg, HE el 9Rd,
FTOT hETTt JTEie! O AT SHoiel 3R, Tie= SRET= %a) e Y=l F6real goie Hid
R, T AU SRETET 9T 9T Saoel 3R,

ATl STATOTEG ATE

1 2 1

1) 2:1 (2) 3:5
3) 5:3 (4) 5:4

Study accompanying diagram of carpet. It is consists of two black strips on the left
and the right, a white square in the middle, and a leaf in the centre. The width of
the white square is twice as large as the width of a black strip. The leaf occupies
a quarter of the square in the middle.

Diagram not to the scale

o Y =
1 2 1
Select the ratio of black to white area with respect to carpet.
(3 2:1 (2) 3:5
(3) 5:3 (4) 5:4

THeedT HIHETE AT / SPACE FOR ROUGH WORK P.T.O.
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8. wrelie miferend wwfergrean fawmmfi s g I 7
123, 146, 171, 198, ?
1) 212 (2) 237
(3) 227 (4) 241

Which number will replace the question mark in the following sequence ?

123, 146, 171, 198, ?
(1) 212 (2) 237
(3) 227 4) 241

9. wure, fufte 9 wfeam & €W frr e Seifawet ser o, watm mfza sme 6, == 6
AT AT, TATCATID] Tl i TR SieTard. qae Fedehalol @ Seu=aT, @I Sieror=
g AT UTeigd @ @I FeTvI=1 Tl 318, ! geiarsmmr fagm sheft
vae : i Hata 39 e, H Aerh W Sierar. Mo e g ser.
faferg : ot gata 39 . yaE Wierer 32, Afeaa T S TR,
Ffeaq : THTE Qe AR, W Ictedere SRy ATE). H Tard Som .

T Eald 39 B 7
(1) fafee ©2) fea
(3) wHTE (4) FTar 34 T

Three friends Prasad, Milind and Alvin are talking about their heights. It is
known that each of them are of different heights. Each one of them speaks three
sentences. Each of them belongs to one of the three categories, Truth Teller, Liar
and Alternators. They made following statements :

Prasad : I am tallest. I always speak truth. Milind always lies.
Milind : I am not the tallest. Prasad is a liar. Alvin is the shortest.
Alvin : Prasad is liar. I am not an alternator. | am not the shortest.
Then who is the tallest ?

(1) Milind (2) Alvin

(3) Prasad (4) Cannot be defined
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10. Hian & HHY= g AAEE Tl 3. A aiarel ®E g6y 3 7
(1) s (2) =&
(3) =I™q (4) U
Sarita is a wife of grandson of Somesh’s mother. How is Somesh related to Sarita ?

(1) Grandmother (2) Father
(3) Father-in-law (4) Husband

11. R = 9rqd §&A=1 94, [ = QUi q8&am=1 99, W = qui §&ar=n g4, N = Jafis gem=n g9

e, W @il faummege s faum s,
(1) IcWceN (2) NclcR
(3) Wcl 4 WnN ={0}

If R = Set of real numbers, I = Set of integers, W = Set of whole numbers,

N = Set of natural numbers, then find the wrong statement from the following

statements.
(1) IcWeN (2) NclcR
3) Wcl (4) WnN = {0}

12. QUESTION 1 Yegmed 5 qesiemret 3meft Fag suaem=h o 6, s sHa s 2 &
TS JTES ST HI0TCATE JeSIewre e seiett T8, @ awft fag fhd v s a5

RIS
(1) 24 2 25
(3) 48 (4) 52

Find the number of ways selecting 5 letters from the word QUESTION, so that

at least two vowels are included and no letter repeated.

(1) 24 (2) 25
(3) 48 4) bH2
THeeHT HHETE JART / SPACE FOR ROUGH WORK BTO.
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13. 7o 31 UIehid A SIS B WM SHaciodn arg-rdl Tl Sieelt 318 U A 29I St
TEE B CEhed B0 Wit Meciel MR, B =41 ScUcHhihe atEe Wil SEeaes
Feardietl € qwiad ihRE Bl o G S5 -HHE, T @ e IeTe S,
R 3 A < ag A1 e, FhfasiE S 9 nTelt F9elt al e ST angs
3Med. B ST ATeTeh T A1 SIS aTe- areraard I1 Srei= gael SueTd A o8l 3cqieeh
Rl S AR, AN 8 g HHl HOATA! FIAHT ATOATEST A SRIT=T IedTeehi!
I SR TS0 b IR (e ATE IeAfed A g & T 3R,

1 i e getet TaEiq Has.

(1) SR A Y 3961 FB01 TR 16 9ddl, T B g UTeh A CRIThgH dTa- Gel ol
THd L.

(2) BT WEh AT ST A9 AT8H ATeiad 3TEdie, qt araATean STeat Ssel
B Tk S AT WE] FUATHRS AT TG Sl FH ITHUN,

(3) A TH A=A AEAH! $UA-FHRHAT ATeAN g = @A @9 Fgedu A1 FURom
H T 9.

(4) A=A FE AR I FB01 Tsh A a8 @IS HUEid g B S
TGN B 3772,

Over the last several decades, the demand for Country B’s automobiles increased
in Country A but demand for Country A’s automobiles in Country B has remained
stagnant. Initially, this disparity was plausibly due to B’s manufacturers having
superior technology, which has yielded more fuel efficient cars with cheaper
maintenance. However, now Country A’s cars are comparable — if not slightly
superior — 1n these respects. Country A’s manufacturers fail to acknowledge
that Country B’s drivers drive on the left-side of the road. Clearly, to help lessen
this trade imbalance, Country A manufacturers should produce more cars with
right-side steering wheels.

Select the one of the following which is an assumption made by the argument.

(1) If Country A makes automobiles with right-side steering wheels, most
consumers from Country B will chose to purchase a car from Country A.

(2) Ifconsumers from Country B drive on the left-side of the road, these consumers
are less inclined to buy steering wheels found on the left-side of the car.

(3) Cars from Country A will continue to improve their fuel efficiency and reduce
their maintenance costs.

(4) The government of Country B requires all its citizens to purchase cars with
right-side steering wheels.

Heedl HMES! AR / SPACE FOR ROUGH WORK

A



o 11 A18

14. 2011 Gref SOEHE GHRET 310 Sl S0 STTET el Sl A1Hos 31 Wi feptoiieentt sepeifem
oGt Ter SO SIS SaeuTd U TG @] I e e AnTel. fertulieami=an
TUhId STTE TRIEOT= SR gifed Sauamdndl, A 9umd gl Wariel @rhet sel
0T AT, U1 BehTHTEREATE St A Hecied avme iferde snammH, Sii SewtE
TUEHT YA Teet T el Qi RRuicamiges Teien s sIofisd esd! 31 graed fet.
ST Feifiaage st Ramareradr, g S 31T STieage € gedied STEHTE
T IO B FeviS Rl Faifdages et aasTes aitor et Tt
i wftommmen arfees TR B, fRwicame gifiar adtisee SR dEndt e B
AT HUATE T 37T, TV AT $901 JrEedrd Gahem Faifaam wa:en qe e warst
Hrenchieh feeft wfeat.
et Yfaareran Fard a9 FehR THE Fehd sred FOR geéeieh v faum fasr
(1) TerieerTeen ushi=an it fmior grom=n sehtman e srferfsa e srar
(2) fertoicami=n guiarad v Snfreia gewd =
(3) TeRT WArhiat Tad =t TR HEU TSI qe5werl hefl Fd deal e WA Ted
(4) SR AR FRToTeHTaT Skl ATEIA FES o) TETrE ST HEas] grerE! a1 A

It frae S e w4l

In 2011, there was an accident in Japan at the Fukushima Atomic Power Plant.
This caused dispersion of radioactive Plutonium in the area and government
had to evacuate nearly half a million people. These people were prohibited from
returning to the area for protecting them from health risks of radiation exposure.
But according to studies of situation at Chernobyl, that was similar to Fukushima
situation showed that though average life expectancy of evacuated persons was
reduced, it was not totally because of cancer caused by radiation. Major causes of
reduced life expectancy were depression, alcoholism, and suicide due to lifelong
evacuation. Thus permanent evacuation resulted in psychological effects that
might be more severe than the physical effects of radiation. It is necessary to note
that there is no agreement among scientist about safety level of the radiation .
Therefore now Fukushima evacuees should be allowed to return to their original
dwellings if they are willing.
Select one of the following statement that best expresses the main conclusion of
the above argument.
(1) Risk of cancer resulting due to exposure to radiation is highly exaggerated
(2) Scientist disagree about a safety level of radiation
(3) Life expectancy is reduced when people are forced to abandon their homes
permanently
(4) Whether to evacuate accident area permanently or not should be the peoples’
choice, if they know the risk of radiations

THeed! HIUTETS T / SPACE FOR ROUGH WORK P.T.L.

A



TOTES

e

" .

12

Al8

15. &R ot weT SR S 8, T SR UG aiteh Sci=Tle Tl STRIeR €1 S L.
Jera Aol Ha1 =T seRdi=an TRt Aifedl rgad.

= 2 E| TR iR Iea= T R
foek I 10,000 30%
EiEll HEFSd] 20,000 25%
foem afeam 1,50,000 3%

fe EloC 50,000 6%
fee w 80,000 5%

T Haradi 12,000 30%

e 9T fqeisaehie JTEER TeH SO Sk 19 et 9o faet.

1)
(3) T

2) fe1
(4) faem

Each of the six regions in the country of Happy sets its own income tax rate which

applies to the total annual income of an individual.

The table below shows income tax information relating to six different persons.

Name Region Total annual income |Income tax rate
Tirth North 10,000 30%

Nina Central 20,000 25%

Wilma West 1,50,000 3%

Dinu North West 50,000 6%

Amina East 80,000 5%

Raman Frontier 12,000 30%

Select the option that indicates the person who pays the same amount of

income tax in a year as Tirth.

(1) Nina
(3) Raman

(2) Dinu

(4) Wilma

THeSl HIATHETS! ST / SPACE FOR ROUGH WORK
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16. GIeiiciehl RIS SieaTged Tl Icamed O fFeg S ?

(1) e, sem, mifen
(2) FIqUTS, ATEE, TR
(3) =g, Tifean, TR

(4) HIoaTq, TEE, TS
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Which of the following are the largest Bauxite producing districts in Maharashtra ?

(1) Amaravati, Bhandara, Gondia
(2) Yevatmal, Nanded, Parbhani
(3) Chandrapur, Gondia, Nagpur
(4) Kolhapur, Ratnagiri, Raigad

17. Sirg=n Jeaa.
=
1. fufeere
9. foom
F. W
T, oA =
A a ®
Q I I I
2 IV II I
3 I 11 IV

@ v 1 11

Match the following.
Minerals
Silicate
Gypsum
Potash

Lime stone

a b c
1 IV I11 |
2 1V I1

(3) III IT IV
4 IV I II

o Tp

T TR
I. @d

I1. faie srEmn

I1I. T aierars

IV, == @ 1

II
IIT

I

Major uses

I. Fertilizers

II. Cement industry
III. Plaster wallboard
IV. Glass industry
d
II
I1I
I
IT1

THeedl HIHTEIE WU / SPACE FOR ROUGH WORK
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3. TR AREE

. Il TUE gES

%. foqaams gga Taft

T, Jerfors wrmEaTen

(1) e ‘37 (2) s, g3 (3) W, FAME (4 S

Identify the characteristics of rural community from below sentences.
a. Dense population
b. Agriculture main activity of society
¢. Paternal family system
d. Backwardness in education

(1) onlya (2) a,bandc 3) b,candd (4) onlyd
19. "eRere feadt feamean i wies Tsamen firedean sea ¢
(1) 05 2) 07 (3) 06 4) 08

How many districts of Maharashtra share their boundaries with Karnataka State ?
(1) 05 (2 07 (3) 06 (4) 08

20. Y& faamrn fomm .
fagm — 1 : gaE-TrE 9 Ha3-90 gall Sieies womnt 3.
faum — 11 : Jag-T7TR 9 geE-g0 urTie fasret Srev= SIS 3R,
(1) Taam I 3nfo [1 st s
(2) faum I snfon 1 g amed
(3) faum I se wig 11 5 e
(4) foum 19 g 11 sl 3T
Consider the following statements.
Statement — I : Mumbai-Nagpur and Mumbai-Pune is a double broad gauge railway
line.
Statement — II : There are electric trains running on the Mumbai-Nagpur and
Mumbai-Pune route.
(1) Statement I and II are correct
(2) Statement I and II are incorrect

(3) I Statement is correct but IT is false
(4) 1 Statement is false but II is correct

HeeHl HIMETS! AT / SPACE FOR ROUGH WORK
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21. WLIAREL. Fd A 1925 U Ufgel Tadl e Sy Hivean T80 GE b 7

(1) @ (2) H=E (3) 3mt (4) FHamE
In which city did Prof. R.D. Karve start the first family planning centre in 1925 ?
(1) Pune (2) Mumbai (3) Thane (4) Kulaba

22. UINH g U8 gdd a0 v feama fea ame 2
(1) 3 2) TS (3) Ty 4)

In which district is Matheran hill station situated ?

(1) Thane (2) Raigad (3) Ratnagiri (4) Pune

23. 09T FVHIHR HERTST IS Wiefiet T egm= Sehaea=al S9a4ar Jed] shaar!

T 7 9 g3t e

(1) @R - #fig - A - ISHETG

(2) FGER - ATCH - g - ITHTET]

(3) SEHMENG ~ el - g - TgEN

(4) IHEMETG - fig - SAEHT - TgEN

As per 2011 census in Maharashtra arrange the following districts in ascending
order as per density of population and choose the correct option.

(1) Nandurbar — Beed — Jalana — Usmanabad

(2) Nandurbar — Jalana — Beed — Usmanabad

(3) Usmanabad — Jalana — Beed — Nandurbar

(4) Usmanabad — Beed — Jalana — Nandurbar

24, wWeEnTTd fafay vl we fusfemvam Fregren ufgen swate MR,
(1) STEHETR 2 T (3) W (4) 3MmETE
district ranks first in Maharashtra in growing a variety of fruits.

(1) Ahamadnagar (2) Pune (3) Solapur (4) Aurangabad

THeedl HIWHTS! AR / SPACE FOR ROUGH WORK BT,
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25. WIefteehl Hivrd faum stex T 2

(1) =g Ferm=h drpaen g7a (SvET 2011) aui fesn dan s a2

(2) ST 2011 YHTO gerern feemeh deaE 25 HI 9 SR B

(3) HRTT & G feRngd arEd.

(4) waAzd g femelt freamder arge fewmn ame

Which of the following statement is incorrect ?

(1) Chandrapur district has more population density (2011 census) than Wardha

district

(2) As per census 2011, population of Buldhana district was more than 25 crore

(3) Manganga river flows in Satara district

(4) Kalmnuri is a tahsil place of Hingoli district

26. 3.9. %33 ALY Guga s a1 O™ YeH g% el I Hieih ST GuTesh v B 7
(1) 3raus T (2) TeerE St
(3) HIET A (4) T STEE
In 1933, the Weekly Nirbheed (Fearless) began to be published from Mumbai.
Who was its owner and editor ?

(1) Anantrao Gadre (2) Dinkarrao Javalkar
(3) Keshavrao Jedhe (4) Ganpatrao Jadhav
27. @eAdeh IV JATAHT TSN w18 TR s 3nfor i aeees foer 7
H. fosrft muar
. g
<k, d®YT a1
5. TeW
(1) 3 3o (2) 3, 9 37T ®H
(3) &, &S (4) 3,9, P 3O B

Which of the following newspapers were morally and financially supported by
Rajarshi Shahu Maharaj ?

a. Vijayl Maratha

b. Dinmitra

c. Tarun Maratha

d. Sandesh
(1) aandc (2) a,bandc
(3) b,candd (4) a,b,candd

el IS AN / SPACE FOR ROUGH WORK
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28. gﬂﬂ%ﬂﬁmw
¢ TEH R4S AT HCHUHR ST WM AERHI S0Ye Aeied fqeneatardiean
T WM 9 hodl.
9. 3w faeneafaEdien smedht € fRremeh geffardt Tea g
. TogA st aren wone vt RieaT SeHTETEEA 3P qeE! 1

e 1.
(1) &, 9, % gH A (2) 3, |, % S 3R
(3) Fae 3T TH IR (4) 3 3MT % g 3R

Read the statements carefully.
A. By the Resolution of 28 September 1919, Chhatrapati Shahu Maharaj ordered

a closure of separate schools for the untouchable students.
B. Three out of eight scholarships for untouchable students were reserved for

girls.

C. Untouchable girls from outside of Kolhapur State were also eligible for the
Prince Shivaji Memorial Scholarship.

(1) A, Band C are false (2) A, B and C are true

(3) Only A is false (4) A and C are false

29. TSN g AEWSH! FATEGRIA Teral Al TEV[ 3TqT WAl Tcied] Sqad =l HU[h!
HeT, WIEATCIh! BV TS e Tgge WA SR 8id 7
W, IAT] ST ATEh
%. Higed UHEE S8
3. oY HauW Yan
(1) @d 31,9, % 3nr g (2) %a H
(3) hed 31, T MM B (4) hed § 3T F

Rajarshi Shahu Maharaj appointed a number of untouchables on responsible
positions as officers. Which of the following officials worked in his Revenue

Department ?

A. Ramchandra Sakharam Kamble
B. Yallappa Bala Naik

C. Dhonddev Ramchandra Vhatkar
D. Dattu Santram Pawar

(1) AllA,B,Cand D (2) Only C
(3) Only A, Cand D (4) Only Band C
THTTHT HIHTETS ST / SPACE FOR ROUGH WORK P.T.O.
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30. WreAlcTYeh I HEcaT=Al T A= {Ecsehiel Heied alean ?

H. ER AftEIE

9. gd AEIE

®. B 939D

T, @ W

(1) aq 31, § 37T & (2) e ®, & I ©
(3) A 3, & MMV S (4) heRd o AT

Which of the following important events were associated with Lokmanya Tilak ?
a. Lahore Session
b. Surat Session
¢. Home Rule Movement
d. Lucknow Pact
(1) Onlya,bandc (2) Onlyb,candd
(3) Onlya,candd (4) Onlycandd

31. Tl IR TERS=A1 HEHME TR HiEe I HIcaR Hed g& Hored! gieerd T1d H
B ?
(1) gImgsh gied
(2) TEIHYURH e
(3) @ BieA
(4) TET gied

What was the name of the hotel started by Gangaram Kamble in Kolhapur with
the co-operation of Rajarshi Shahu Maharaj ?

(1) Satyashodhak Hotel

(2) Satyasudharak Hotel

(3) Satyarth Hotel

(4) Satyamey Hotel

32, WG HEUEATE! Geard dayad HId el ?

(1) 7% @
(3) & (4) T
Where did the first printing press start in India ?
(1) Mumbai (2) Madras
(3) Bengal (4) Goa

FHesdl HIATETS! AT / SPACE FOR ROUGH WORK
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33. e FeH A gepies Frammy fewren wEaediaEeTe S TR Siataars T aeT
Tai=a gasiat €1 w9 arg s Tem e wamde g
(1) TI9TeE FS0T et
(2) grerTs s
(3) faferm et
(4) HHL 3G WM

In his budget speech highlighted the contradiction between the British propaganda

about the tax relief granted in a famine year by Lord Curzon and the additional

tax of Rs. 3 Crore 30 Lakhs levied for payment of government expenditure.

(1) Gopal Krishna Gokhale
(2) Dadabhai Naoroji
(3) Wilham Wedderburn
(4) Sayyed Ahmed Khan
34. TR HOTS ARES A W Haedl HUTH I HIve1 HEvET "igedl g ?
3. Ut vl g2t o,
9. FHmre faelt gull U qw ggl .
%. fofie 9 gt aeusr o aRwe S,
3. FHMTA 96 HIAINE GETA HCAE HIHTR HHAE WA 4594d o .
(1) %o 3 3T § (2) Wad § 0T H
(3) e % 3T (4) e A, & IO T

What demands did Narayan Meghaji Lokhande make before the ‘Bombay Factory
Commission’ ?

a.

To give paid leave on Sunday.

b. To give one hour off in the afternoon on working day.
¢. Mill time should be from 6.30 morning to evening.
d. In case of injury to the worker at work place, the worker should be paid till
be returns to work.
(1) Onlyaandb : (2) Onlybandc
(3) Onlycandd (4) Onlya,candd
THeHT HHTETS AR / SPACE FOR ROUGH WORK P.T.O.
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35. Hlerdicl ‘Famsh Fom’ arersft arfiertdt S sgad geta ge ¢

. BUHAUE FerRoll, THEg T

W gMiex & Ef, T Hiesw

%. FIUA CUIIS, TR et

3. BiuTs faevia, gerfye f

(1) e 3, § 301 (2) WA &, & AT B
(3) e 3 amivr & (4) ®Hd & AT

Who among the following persons were related to ‘Shivaji Club’ of Kolhapur ?
a. Hanmantrao Kulkarni, Ramchandra Gadre
b. Damodar Hari Joshi, Ganesh Modak
c. Hanumant Deshpande, Gangadhar Gokhale
d. Haribhau Chitnis, Sadashiv Chitre

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlyaandb (4) Onlycandd
36. Wrelieieh! Hive I= TRTerTs AR 85 Tergd sheufta seema fmmee 3 7
(1) s (2) drfeTg
3) T (4) feweh

The jurisdiction of which of the following High Court is spread up to Lakshadweep

Union Territory ?
(1) Kerala (2) Tamil Nadu
(3) Mumbai (4) Delhi

37. 03 ST HIGERN HEUHER, TSAURUT ANICeh awaidicl WIeaieh! HUrl STesgrd
] FHESEv o el 3R 7
(1) Ig=se 3% (2) FF=T Yo
(3) =T ¥R (4) ITVT ¥3

By the 73" Amendment Act, which of the following Directive Principle for the

State Policies has been said to be implemented ?
(1) Article 39 (2) Article 40
(3) Article 42 (4) Article 43

FHeed] HIHTEG! S / SPACE FOR ROUGH WORK
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38. WRA @ YRS TS TEier AT gl fepdean weTgRedia Suard aTTeft 3T ?

H., ¥oHI

o, ¥ Al

®. WA

R |
et arg wig e

(1) BFAFIMTH (2) BR B AMES (3) R JF AT (4) SFaq

Which Amendment gives the guarantee that India will remain Secular State ?

a. 40th
b. 42nd
c. 23rd
d. 44th

Select the correct option from above.
(1) Onlybande (2) Onlycandd (3) Onlyaandb (4) Onlyb

39. it aff Tty TeRRA weme Efgum | TRITET ST qult e heft 7
(1) 2R¥E§ (2) 2R¥Y (3) 2’¥o (4) 8’3
In which year did the British Government accept the demand for framing of a
Constituent Assembly for the first time ?
(1) 1946 (2) 1945 (3) 1940 (4) 1939

40. TR U T ¥R S HeAGERAER /WG HEd T GEIMgd e Yemed JHias el
T ?
A 9
4. e
%. o 9 AW

. foamg snfor aewme

AT DIV TART S 378 ?
(1) SHRFNT (2) BRI I F (3) Bad S IV H  (4) Had T M 37
Which of the following subject were included in the Concurrent List from the State
List in 1976 by the 4274 Constitutional Amendment ?

a. Electricity

b. Education

c¢. Weights and Measures

d. Marriage and Divorce

Which of the above options is/are correct ?
(1) Onlyaandb (2) Onlybandc (3) Onlydandc (4) Onlydanda

el HHTHIGT AT / SPACE FOR ROUGH WORK P.T.O.
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41, TSTE=AT B TRRETRHE YA SeehisAT=! A1d 9 =1 Himferes forar Jrameden
TICT hedT 3TTRd 7
(1) 4 (2) =9 (3) e (4) ¥
Which one of the following Schedules of the Constitution lists the names of Indian
States and specifies their territories ?

1) 1st (©2) 4th (3) 5th (4) 7th

42, vRd GfraErde wm — 111 7 GTefia s gares gl
3. Treomen g
W, g ARt SEine gaE qefi
%, TR TEHeA
. GUF AW 9 HECAYIS Ahd 8
() s, g3mrs  (2) 9, FMOE (3 HAMUF (4) & 3T g
Part — III of the Indian Constitution includes
a. Right to Education
b. Equality of opportunity in matters of public employment

¢. Organisation of Village Panchayats
d. Equal justice and free legal aid

(1) a,bandc (2) b,candd (3) aandb (4) candd
43. S A (IENAEeY Hed) ¢
‘3 (saaEt) ‘@ ()
A % @ g i. St & afagmrE amen am
9. Y. IER g Wi ii. Jexrafes & sfErea s 9V el 3R
®. I T iiis%mﬁw*@taﬁuﬂﬁﬁg@ﬁﬁz(ﬁﬁz)aﬁ
5. N1 faerdgeen v. JeIART & AT TRIME ISTETeRTE! Feel T8

(1) -1, §—1i, & -1, g—w

(2 FA—-1, F—iv, -1, 8 —1ii

3) HA—iv, -1, % —11, S —111

4) F—iv, §—1i, & —iii, S —ii

Match the pairs (significance of the Preamble) :

‘A’ (Person) ‘B’ (Statement)

A. K. M. Munshi 1. Preamble is the soul of the Constitution

B. Pt. Thakur Das Bhargava 1ii. Preamble resembles the declaration of
Independence of the USA

C. Ernest Barker iii. Preamble is a key-note to the Constitution

D. Md. Hidayatullah iv. Preamble is the horoscope of our sovereign
democratic republic

(1) A—ii, B-ii, C-i, D-iv

2 A-i, B-iv, C-ij D —iii

3 A-iv, B-ij, C-ii, D —iii

4 A-iv, B-1i, C-iin, D-iu

FHeodl BTG AR / SPACE FOR ROUGH WORK

A
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44, SrEen @
(3R (T TGL)
a. 3% 3R (A) 1. THM AT ShREl
b. 3T=RE ¥o i1, IR TANTET =0T 3767 340
c. TG WY iii. IR HEe
d. 3eRg Yo iv. THH =R 9 A% HRECHNIS e
a b c d
(1) 1 i1 11 v
(2) ii i iv iii
(3) i iv ii i
(4) v 1 1 1
Match to columns :
(Article) (Constitutional Provision)
a. Article 39 (A) i. Uniform Civil Code
b. Article 40 il. Separation of Judiciary from Executive
c. Article 44 iii. Organisation of Village Panchayats
d. Article 50 iv. Equal Justice and Free Legal Aid
a b c d
1) 1 ii iii iv
@) 1 1 iv 111
(3) i v i 1
(4) iv i i i1

45. TR TS IV STTEHEad TR AR TR farean g smett werten
W 9 feshian wftey =] wrd 7

A, T WY
§. IE Y&
F. TG Yo
T, ITTTER ¥¢
I g faer

(1) SF T INMTH (2) SFFINMUE (3) GH B INMUE (4) HHd &

Under which article of the Indian Constitution can the Government prohibit the
purchase and sale of narcotic drugs in the interest of public health ?
a. Article 45
b. Article 46
c. Article 47
d. Article 48
Select the correct option.
(1) Onlyaandc (2) Onlybandd (3) Onlycandd (4) Onlyc

el RIS AR / SPACE FOR ROUGH WORK PT.0O.
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46. Y&l Freiteh! Shiord foum slet ARd ¢
i, 3TeRG WY ARHSHT=dl TIFHaHl 8.
3eae Wy WATH Fed, wriwe, SaEert, g, oY I 9aq 9 o e
3.
FTERE e, WhHEe Tl Tudia Ieerh i
(1) i am i (2) il T i (3) i, ii 3mfoT iii (4) iii 3fon 1
Which of the following statements are correct ?
i. Article 74 deals with the status of the Council of Ministers.

ii. Article 75 deals with the appointment, tenure, responsibility, qualification,
oath and salaries and allowances of the Ministers.

ii.  Article 76 the Council of Ministers shall be collectively responsible to the
President.
(1) iandii (2) 1iand i (3) 1, 11 and 11 (4) 1iiiandi

47. @ fauam foeme = (e o mgeEmies — CAG).
1. WA= TSHed (AT=0g L¥¢) AT HETAE T &ehT=a1 Taa3 erE] aqq el
3B,
i, 1 A HINTET GLaT 3Hal.
g 9 TS giel Taa cumen ot ferefta somrefier s sl
iv. oI HEE & 9 FAEAl.

Tt o faum stst 3mEd ?
(1) 1, ii 37097 dii (2) i1 3T 33 (3) 1, ii, iii 37T iv (4) i, iii iv

Consider the following statements (Comptroller and Auditor General — CAG).
1. The Constitution of India (Article 148) provides for independent office of the
Comptroller and Auditor General of India (CAG).
1. He is the guardian of the public purse.
iii.  He controls the entire financial system of the country at both the levels — the
Centre and the State.
iv. He holds office for a period of five years.

Which of the above statements are correct ?
(1) 1,11 and 11 (2) 11 and i 3) i,i,mandiv (4) 1, 1l andiv

THeed| HIATETS! A / SPACE FOR ROUGH WORK

A
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48. A HUE/F IBET (THeH gl TewE).
3. T FHTRAC FCE GH WA e el T A S e Fre

frepmdt Bra.

q. T TE e G9TETdE g SR fagd STt a wI wInishl T SnE g9
Fraeman sr=en gra s fe e

(1) e 31 (2) wF W

(3) FaT g (4) FH!

Select the correct statement/s (Parliament Double Membership).

A. If a sitting Member of one House is also elected to the other House, his seat
in the first House becomes vacant.

B. If a person is elected to two seats in a House, he should exercise his option
for one. Otherwise, both seats become vacant.

(1) Only A (2) Only B

(3) Both A and B (4) None of these

49, YRATSA SWIIAAT Heuld Wielicideh! Siurd! faum sist 3med ?
i,  gHAT IS e fhar U5 faftnigeen @ew @
i, TEwT HeR W ey Avary uE S,
iii, @ WA AT .

(1) e 1 (2) ®HRd 191l

(3) i, 1i T iii (4) aAThHY T

Which of the following statements are correct with regarding to the Vice-President
of India ?

i. He should not be a Member of House of Parliament or a House of the State
Legislature.
i1i. He should be qualified for election as a Member of the Rajya Sabha.

i11. He should be a citizen of India.

(1) Onlyi (2) Onlyiandii
(3) 1,11 and 1ii (4) None of these
THeedl HIATETS AT / SPACE FOR ROUGH WORK P.T.O.
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50. Wiefiereh! v gt yemm gfafifies T=rmeme 3 ?

3. feeett

¥, ggead

®. SH] 9 HIP

g, dfene

3. ds™@

%, @G

(1) % 3, 9, (2) Fad 3, H, ©
(3) I+, 3, 3 (4) bR A, 3, %
Which of the following Union Territories have representation in Rajya Sabha ?
A. Delhi

B. Puducherry

C. Jammu and Kashmir

D. Chandigarh

E. Ladakh

F. Lakshadweep

(1) Only A, B,C (2) Only A, C,D
(3) OnlyC, D, E (4) Only A E, F

51. IR HH/A IeEl.
3. T Fags smgarE g § aseren asauregR eft ST,
§. U9 Magus AFaE! 9gegdl TSIUTd & Iehdl.
(1) % 3 (2) HE
(3) AT (4) T T
Select the correct statement/s.
A. The State Election Commissioner is appointed by the Governor of the State.
B. The State Election Commissioner can be removed by the Governor.
(1) Only A (2) Only B
(3) Both A and B (4) None of these

THeedT HHTETS! RN / SPACE FOR ROUGH WORK
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52.- HE-TT FIIITIF GETEEd SSl e,
DT

e

. WL i, amfamfi=h amwon ar e usa gEmde fawrerea
B FHOATEN FEEAT HUHT
q. ¢ ii. wEClavs Idfa TR
F. R iii. e fafea R TR HoaTawRl gEea AR
T RWwo iv. TR fearen g T gEmHe fawamamea s s
TECE! HATUHR
A o ED g
1 1 i 1 v
2 1u o iv i
(3) 11 i v i
(4) v i nooii
Match the pairs regarding Center — State Legislative Relations.
Article Provision
a. 247 1. Power of Parliament to legislate with respect to any
matter in the State list if a proclamation of emergency
1s In operation
b. 248 ii. Residuary powers of legislation
c. 249 1i. Power of Parliament to provide for the establishment of
certain additional courts
d. 250 iv. Power of Parliament to legislate with respect to a matter
in the State list in the national interest
a b c d
1 1 1 il iv
(2) 1 - w1
(3) 1 o iv 1
4) 1v 1 i i
AT HIHHG AR / SPACE FOR ROUGH WORK PT:0.
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53. Wiellciishl SV WIS HiaamTEl Thiens afire 3med ?
L=RER Il e

BRERCEIE

UehlcHeh ~ITTTieAehT

gfaumr=N wafusar

3. Uy yfaffeamey woman T

(1) S A, 8, & (2) B4, 8, 3 (3) ®Hd %, T, 3 (4) W A, 9, D

o H a &

Which of the following features are unitary features of Indian Constitution ?
Independent Judiciary

Division of Powers

Integrated Judiciary

Flexibility of the Constitution

E. No equality of State representation

(1) OnlyA,D,C (2) OnlyB,D,E (3) OnlyC,D,E (4 Only A, B, C

Oa®m >

54. TSA HGHEEST=A Hewid @refier faar foemma =
i. Abmes TgFaic TS faamade Swert 3w,

ii. HETET HRHTE GEIHETAT ToaT 316,

iii., T TSN fedean GecaraTad HIvdE IR Hiehsl & Yehd Tal.
TRl g faam /faum stet 3me/3mea ¢

(1) % i3mrii  (2) W ii 30 iii (3) W i IMOTidi  (4) i, i1 ITOOT ddd
Consider the following statements regarding the State Council of Ministers.

i. The Council of Ministers shall be collectively responsible to the State

Legislative Assembly.
ii. The Ministers shall hold Office during the pleasure of the Chief Minister.

iii. The advice tendered by Ministers to the Governor shall not be inquired into

in any court.

Which of the above statement/s is/are correct ?
(1) Onlyiandii (2) Onlyiiandiii (3) Onlyiandiii (4) 1i,1iiandiii

FHeedl HIATETSH AW / SPACE FOR ROUGH WORK
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55.- WTATIR IV TSI AHEHAT S S0 378 7
i, ITEUTEd oW

i, TEn

iii. AT

1v. ﬁlﬁ'{'ﬂl

y. Toehm

V1. ﬁi‘gl’l

(1) i, ii, iii, iv (2) i, iv, v 30T vi
(3) 1, ii, iii JTOOT vi (4) ii, iii, v vi

Which of the following States have only two seats in the Lok Sabha ?
i. Arunachal Pradesh

1. Goa

1. Manipur

iv. Mizoram

v. Sikkim
vi. Tripura
(1) 1,11, iii and iv (2) 1iii, iv, v and vi
(3) 1,1, 1niandwvi (4) i1, 111, vand vi

56. TUerd faemmEn anam .
i. dAfves TegudiEh wsff 3@ wia AR @/,
ii. ARTES ARENT SEHATSAT STRIET SRR B,
(1) Fd i s 3R
(2) Ha ii TS 372
(3) id iidral SIS TR
(4) 19 ii QE H ITRd
Study the following statements.

1. The Council of Ministers holds office during the pleasure of the President.
ii. The Council of Ministers continues in office on the basis of majority support
of the Lok Sabha.
(1) only 11s correct
(2) only 11 is correct
(3) 1and i1 both are correct
(4) 1and iiboth are false

FHeel HIHTEE AR / SPACE FOR ROUGH WORK P.T.O.
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57. Im YA 3NSEI.
H. 1952 =1 Uegudieal Fragvphia %, . wg & yg@ gfeerd siean 2.
q. 1969 =1 Usgudien faguphia . weftar 1ggt 7 yg@ fewadi Ihean &,
%. 1992 =1 Uegudiean FraevEid &, w. v @ yqw wfaere shean gm.
(1) %o A, & (2) ®HE, F
(3) Wad 3, ® (4) =Rl gd

Select the correct statements.

A. K. T. Shah was main rival candidate in election of President, 1952.

B. N. Sanjeeva Reddy was main rival candidate in election of President, 1969.
C. T.N. Sheshan was main rival candidate in election of President, 1992.
(1) Only A, B (2) Only B, C

(3) Onmnly A, C (4) All of the above

58. Wreld fau™ femmma e,
i. fauraw 2 srmEsd g k.
i, Taurmims gt T sarfyerngar g faga e Sae wfafafy swmm.
i1, faumEa=h SaTe 9T 9@ woo I fFAM Hew wEa §o fAvarg et 3.
iv. it 33facarar war afg=rem wew faummss ez e ufzs,
FlieTieh! HIvTdl oM stet 3Tma 7
(1) e 1, i 31T iii (2) e ii, iii i
(3) WO iv, i 3TIOT iii (4) Rt i1 3T i

Consider the following statements.

i. Legislative Assembly is a permanent chamber.

ii. The Legislative Assembly consists of representatives directly elected by the
people on the basis of Universal Adult Franchise.

i1i. The Legislative Assembly maximum strength 1s fixed at 500 and minimum
strength at 60.

iv. Legislative Assembly should be re-elected within six months after the
revocation of emergency.

Which of the statements given above are correct ?

(I) Only i, 11 and 111 (2) Only 1, iii and 1v

(3) Only iv, 1 and 11 (4) Only 11 and 111

FHedl HIATETS! ST / SPACE FOR ROUGH WORK
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59. WRaTEN Usgdiean Fratees neamet wrefie faum foemma .

i TOCel G eVPEdE FEgd ST SeE.

i, T fyurmyde Haga s T,

iii. TRt faemaiees @ew. ‘ .

iv. feoeft snfor qg=er = Fgentia wyewmen faumEde Faga oo wew.

et S faem /faem st smed ?

(1) e i 3T id (2) W 1, il 3T idi

(3) e i, ii 3T iv (4) e iii

Consider the following statements regarding the electoral college of the President
of India.

i. Elected Members of both the Houses of Parliament.
ii. Elected Members of the Legislative Assemblies of States.
1. Members of Legislative Councils of States.
iv. Elected Members of the Legislative Assemblies of the Union Territories of

Delhi and Puducherry.
Which of the above statement/s is/are correct ?
(1) Onlyiandii (2) Only i, 1i and iii
(3) Only i, i1 and iv (4) Only 111
60. SIS M@ (hg-Us TaY),
"o (3I01) a (forwa =)
. IITTHG <o i F=d
q. AT L i, forefa s
F.  ITTOG VY iii. 9 9 HET W UHTE
T, IHTHE VR T iv. Tl TSI hghgd IFEH
HA o <h B
(1) 1v i1 i 11l
2 1iv 1 m i
3) 1 iii 1 v
4) i 1 iv 1l
Match the pairs (Centre — State Relation).
‘A’ (Article) ‘B’ (Subject Matter)
A. Article 280 1. Savings
B. Article 277 1. Finance Commission
C. Article 275 iii. Goods and Service Tax Council
D. Article 279 A iv. Grants from the Union to Certain State
A B C D
(1) 1iv i1 1 111
(2) 1iv 1 i on
(3) 1 11l i v
(4 n i iv 1l
THeed! HIMEES! AN / SPACE FOR ROUGH WORK P.T.O.
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FMR] 3G TAG HA, deal THe o1 fawamer Foma Soawdl SR 6 ohd. GTefielieh]
VAT FHEE A FfeHT=n Fiie aqert Teiia T ?
(1) =ferm wrat srffem, 23uy

(2) TSfE (&) HEE, 4063
(3) et (W& F Wgyur femmn) Hre, €Quy
(4) =l AT
When the legislatures of two or more States pass resolutions requesting the

Parliament to enact laws on a matter in the State list, then the Parliament can
make laws for regulating that matter. Which of the following laws is not related

to above provision of Constitution of India ?

(1) Prize Competition Act, 1955

(2) Wildlife (Protection) Act, 1972
(3) Water (Prevention and Control of Pollution) Act, 1974

(4) None of the above
62. AT s S[esdl.
TR ATt T
H. TR St i. R0%¥ - R0%%
. . u g ii. R00¥% - R00%
®. "Ny st iii. 003 - Ro0Y¥
T, gET qeeH iv. 3RR& - 2R%¢
A o <h B
(1) v i 1
(2) 1 v 1 i
3) i i i v
4) 1 i v
Match the correct pairs.
Speaker of the Lok Sabha Tenure
a. Manohar Joshi i. 2014 - 2019
b. P.A.Sangma 1. 2004 — 2009
c¢. Somnath Chatterjee ui. 2002 — 2004
d. Sumitra Mahajan iv. 1996 — 1998
a b c d
(1) v il 1
(2) 1 v 11 1
3 1 1 i iv
4 1 n i iv

Heel HHTATS! AW / SPACE FOR ROUGH WORK
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63. WWW@@WWWWWH&WWM?
TSI Y@ RV dRET e Tt et o= fae
ii. THER T
iii. SIS TEB He ASBIdl e T
iv. Td Y= U aiger (ot gvaren sifem sAfUer goewe
(1) Ha% 19 ii (2) A 111 T iv
(3) e iii (4) B 1,119 iv

Which of the following aspects of Parliamentary democracy was adopted in Indian
Constitution from the British System ?
i. Hereditary Monarch as Head of State
ii. Parliamentary Supremacy
iii. Collective responsibility of the Executive to the Legislature
1 Final authority of the Parliament in all matters of Constitutional dispute

(1) Onlyiand ii (2) Only iii and iv
(3) Only i1 (4) Only1i,iiand iv
64, WRATIT Taied HEE] SUHR HOTA AH 1A ?
(1) wereree (2) AT BT
(3) R T = (4) WA HEIEETE]
Who is considered as the highest law officer of India ?
(1) Advocate General (2) Chief Justice of India
(3) Minister of Law and Justice (4) Attorney General of India

65. THENSAT TN TR aTEd I %A el
. AN 2 AR HEETel WieH e TEvH e .
9. TRH TR HeET g STUHR T AT,
%. Tl AdHarEa AhaHe IfEed Y IS uedl,
(1) e 3, & (2) e 3, ®
(3) W &, F (4) ot gd
Select the correct statements about Protem Speaker of Lok Sabha.
A. Prime Minister appoints the Member of the Lok Sabha as the Protem
Speaker.

B. The Protem Speaker has all the powers of the Speaker.
C. He presides over the first meeting of the newly elected Lok Sabha.

(1) Only A, B (2) Only A, C
(3) Only B, C (4) All of the above
Heegl HHTETS! ST / SPACE FOR ROUGH WORK P.T.0.
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86, iR v S Ay e 8 7

1: Iﬁﬂw

ii. WG FETH
iii.  gften wenE
iv. U™ gEsit

(1) i 3 i (2) iii 3T iv
(3) ii 3 iv (4) i3 i
Who among the following was Speaker of the Lok Sabha ?

i. Meera Kumar
ii. Pramod Mahajan
il. Sumitra Mahajan

iv. Pranab Mukherjee

(1) 1andii (2) 11 and 1v
(3) 1uandiv (4) 1andin

Al8

67. WAl IV THATS Jade™ & TsId= 98T 8id 7
e mieft (2R&8)

. 7aed o (Ro00%)

ITH. . TAUA (23R9)

. U™ T <Aiier (3%%8)

S a2 &

(1) %dd A, 9, (2) BHH, B, S
(3) Wd A, H, S (4) %Hd A, 9, S

Which of the following Prime Ministers of India were Members of Rajya Sabha ?

A. Indira Gandhi (1966)

B. Dr. Manmohan Singh (2004)
C. I. K. Gujral (1997)

D. H. D. Devegowda (1996)

(1) Only A, B, C (2) Only B, C,D
(3) Only A, C, D (4) Only A, B,D

THeed! HIMTEIS! AT / SPACE FOR ROUGH WORK
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68. W Igudien faevEh! sraae faare o arefaar 2
(1) wared =
(2) TETEd AT I Ie= AR
(3) wwg
(4) v frate smEm

Who decides the disputes regarding election of the President of India ?
(1) The Supreme Court

(2) Supreme Court and High Courts

(3) The Parliament

(4) The Election Commission of India

69. v Frwreiies 3 fodaes o= faftrigesm giear 39 7

i |
i, foamsh
iii. e
. =997
A g e,
(1) % i T ii (2) W iii M iv
(3) W iv (4) % i

Money Bill can be introduced in the State Legislature only on the recommendation of
1. Speaker
ii. Finance Minister
iii. Chief Minister

iv. Governor

Choose the correct options.

(1) Onlyiandii (2) Only i1 and iv
(3) Onlyiv (4) Only1
THeSIT HIHTETS T / SPACE FOR ROUGH WORK P.T.O.
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70.- A HH /A .
. IR U e (geedt) fadreren wewla 1986 med Tgudt At fifg =i wishe

fadran IR el g,
9. wfggH geedt fasrmenren dewta wegwi Fmifrer (faet siftemr) e,
(1) e 37 (2) %Hd « (3) 319 qral (4) I AT

Select the correct statement/s.

A. In 1986 President Zail Singh exercised the pocket veto with respect to the
Indian Post Office (Amendment) Bill.

B. The President has no veto power in respect of a Constitutional Amendment
Bill.

(1) Only A (2) Only B (3) Both Aand B (4) None of these

71, YRS USTER=A1 STRTST SEHME Grefterehl hioren fovamen aumer g ?
(1) vYard AR, iR 37T Sereer=n
(2) I HROMEET T BvITEas atgel
(3) U@ STFT arevt
(4) v fhan wfasme T
Which of the following subjects are included in Eleventh Schedule of the Indian
Constitution ?
(1) Powers, authority and responsibilities of Panchayats
(2) Provisions as to disqualification on ground of defection

(3) Allocation of seats in the Council of States
(4) Forms of oaths or affirmations

72. Tegr sfwesEd el faum faema = .
BOR T 9 HAGH HUT= URYE TeEIiehl GF garm (3/3) ver st g sawn
9. Near gfwe=a warmft Rem fegr gitwe=an sedhin @R wer afes g 38
T 3 e uieg weee 31fUsr 9g M g,
(1) Hhaes faum 37 IR 312 (2) Has faum € s 3R
(3) erdid faum st (4) S fram =Rt sTRe

Consider the following statements about Zilla Parishad :

A. The State Government may, if it thinks fit, on the recommendation of
the Zilla Parishad supported by not less than two-third of the number of
Councillors present and voting remove any Councillor if he has been guilty
of misconduct.

B. Ifthe member is for a period of six consecutive months without the permission
of Zilla Parishad absent from meetings thereof the membership of Zilla
Parishad shall become vacant.

(1) Only statement A 1is correct (2) Only statement B is correct

(3) Both statements are correct (4) Both statements are false

THeedl RMTHES! AT / SPACE FOR ROUGH WORK
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73. ‘% o W uityeq fpHM @ warer fohdt wwTEe s 7
A, fraE Lo 9 FHAE 33
9, e 3 9 A 3¢
%, foum 3¢ 9w &4
g. foum R0 3 w9 &0
Fhethl i ferum /faam st=t amRa 2 ,
(1) % 3 2 wFFAH (3) HH S (4) Fd H
‘C’ class Municipal Council consists of how many minimum and maximum
members ?
a. Minimum 17 and Maximum 23
b. Minimum 23 and Maximum 38
¢. Minimum 38 and Maximum 65
d. Minimum 20 and Maximum 60
Which of the statement given above is/are correct ?
(1) Onlya (2) Onlybandc (3) Onlyd (4) Onlyc
74, SIS A
I W
3. 243-S I TRaTfereRt TEia ot
. 243-Q II. are afiren ndia s 3nfor = = 3.
®. 243-R IT]. TRUTfTeRTn Hremas 3.
8. 243-U IV. Trarferesr= T
H 9 <h s
(nH IV II I IT1
(2 III 1v 11 I
3) I I III 1A%
4) II I v I11
Match the pairs ;
Article Provision
A. 243-S I. Constitution of Municipalities
B. 243-Q II. Constitution and composition of Wards Committees etc.
C. 243-R III. Duration of Municipalities etc.
D. 243-U IV. Composition of Municipalities
A B C D
(1) IV II I ITI
2 I 1v 1II I
3) 1 I III IV
(4) II I IV I11
Heed HHETHEG AR / SPACE FOR ROUGH WORK P T
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75. WATAYhH! HIT Teh Iea=TT=T G ATRIfAeh=n A8l ?

H. TG HA W

9. HERA® TEH

. HA T8gA

T, T

(1) & 3 (2) wH (3) % T

(4) %ad &

A18

Which one of the following is not the source of income of the Municipal Council ?

a. Goods and Services Tax
b. Grants in Aid
c. Non-tax Revenue

d. Local Taxes
(1) Onlya (2) Onlyb (3) Only

d

(4) Onlyc

76. A SIS eI

(MERTSTel et HgHTRaTicTehe! 1)) (MEFTRATRTRS T o)

3. IeRTER eI 1 2R¢R

¥, Y9dd HFTRUTTeR] i, 2R%R

%, At g8 HEHTRATCTRI . 2]%¢

. HoA-Sifad! TRt iv. R0%§
N T & T

(1) i i i v

(2) 1 111 v 1

(3) 11 v 11 1

4) 1v 1 11 11l

Match the correct pairs :

(Name of the Municipal Corporation (Year of Establishment of

in Maharashtra)
Ulhasnagar Municipal Corporation
Panvel Municipal Corporation
New Mumbai Municipal Corporation
Kalyan-Dombivali Municipal Corporation
a b c d
(1) 1 11 111 v
(2 1 i v i
(3) in v i1 1
4) 1v i i1 111

o T

Municipal Corporation)
I

il.

111,

1v.

1982
1992
1998
2016

el ShTHTHTS! W / SPACE FOR ROUGH WORK
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77. HENTS TSAT fordl AiehEEd 3Eciedl TR Ui¥es TEFRRUTcishd &9ia idl Ad 7
3. T AN TR
q, o CTREET S
&, Uk AT ST
g, Tedg BONMET S
Fieteht Hord faum/faum stist smga ?
(1) % g (2) wad & M0 3 (3) HHA § (4) e 3

How much population is required to convert Municipal Council into Municipal
Corporation in Maharashtra State ?
a. More than two lakh
b. More than three lakh
¢. More than one lakh
d. More than ninty thousand
Which of the statement given above is/are correct ?
(1) Onlyd (2) Onlycanda (3) Onlyb (4) Only a

78. ‘o3 dt TAIGEKI HEcAYUl I RS S ?
3. HAeHT 99 2% INEE ¢ 99 HUAES).

g, TERA TS SFTEA d ARG forchg shluT= Hehedl Aoed HUATETe!.
%, GG I TR FoE AT HgTaa SCuTET &1 GUATETa.
T, IR §C HEAG FHOAE!.

lierieh! Hivrd fum /faam st smed ?

(1) ed 31 37T 6 (2) e 3 T §

(3) ® 9 (4) BT

Why is the 73" Constitutional Amendment considered important ?
a. For changing voting age from 21 years to 18 years.

b. For strengthening the concept of Panchayat Raj System and decentralization
of democracy.

¢. To provide Union Territory Status to Dadra and Nagar Haveli.
d. To enact Anti Defection Act.

Which of the statement given above is/are correct ?

(1) Onlyaandc (2) Onlyaandb
(3) Onlyb (4) Onlyd
THeedl HHTETS JI / SPACE FOR ROUGH WORK P.T.O.
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79. TERTS WEAN TORasd ST v dlelt & sell 7

3. Rooo

. Roo%

%. Roov

8. Roo03
(1) ®ad & 0T & (2) e 3
(3) Wad 31, § M & (4) %o S
In which year Government of Maharashtra started ‘Jalswarajya Scheme’ ?
a. 2000

b. 2001

c. 2002

d. 2003
(1) Onlycandb (2) Only a
(3) Onlya,bandc (4) Onlyd

80. Wciicdeh! hivrdt faum /faum ster 3me/amed 7

. T (R0%R) WA &R BEV Hess 3TEA.

¥, YRATT SEvl HgaHI oiF Tehrd fadmTel S,

%. fraitaa gecaren sl g gutEn sEal.

5. = fewmmmen ygg A st 71 sEvl deewEn yetg e el

(1) e 3 amfor & (2) HEd A, H M B

(3) ad &, & VT 8 (4) wF 3, § AT E

Which of the following statements is/are correct ?
At present (2019) there are 62 cantonment boards in the country.
In India, the cantonment boards are divided into three categories.
The elected members hold office for a term of five years.
The military officer commanding the station is the ex-officio President of

the cantonment board.
(1) Onlyaandb (2) Only a, candd
(3) Onlyb,candd (4) Onlya,bandd

81. oY =1 HAICEEAIEY Wieficiuehl shivTe sTelt THTfease 31m2d ?

3. Toear FrsmmETET aftd

¥, fam smm

%. TR s afrd
(1) s (2) = 3T % (3 F,T9® (4) =R T
Which of the following matters are included in 74" Constitutional Amendment ?
a. Committee for District Planning

b. Finance Commission

¢. Committee for Metropolitan Planning
(1) aandb (2) bandc (3) a,bandc (4) None of these

e P

ool HHTETS! S / SPACE FOR ROUGH WORK
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82, o3 ot TEHICER WICHETEh! HIvTe TS ] Bid =&l ?
;. ATES
EAREEI
%, S 3o e
3. HET
(1) A9H 2) HA,993 B) A, ¥, HdE (4 99
73rd Constitutional Amendment does not apply to which of the following States ?
a. Nagaland
b. Mizoram
¢. Jammu and Kashmir
d. Meghalay
(1) aandb (2) a,bandd 3) a,b,candd (4) bandc

83. WENIIHICT el Tk TEy Wieiieeh! hivfal 3TRd ?
A, HEFTRUTCTER
¥, DEv USS/Feh USS
%, TR 9iNg
. IR U=
(1) aa 31, § A0 &% (2) W 3 0T §
(3) ¥, % amrs (4) I T, I A H

Which of the following are urban local bodies in Maharashtra ?
a. Municipal Corporation
b. Cantonment Board
¢. Nagar Parishad
d. Nagar Panchayat

(1)‘ Only a,bandc (2) Onlyaandb
(3) a,b,candd (4) Onlyd,aandc
84. TSN TarRd U Wl Frge swuan swft Rrera ittt soren aftedy seft 3 ?
(1) verum, foee g (2) 3Nk Hgal |t
(3) weldd T Hgal |t (4) <h.=E1.%. T ghh

A Minister for Panchayat Raj should be appointed in the State Council of Ministers.
This recommendation has been made by which one of the following Committee ?
(1) L. M. Singhavi Committee (2) Ashok Mehta Committee

(3) Balwant Rai Mehta Committee (4) G.V.K. Rao Committee

THeed SHIHTETS! JART / SPACE FOR ROUGH WORK P.T.O.
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85. SEY HSAME! AT, H 9 HrRTgd Hivaa swwaren R SHomen 3 ?
F. hg TN
9. TSI TR
#%. foear ufteg
B, WEHTITTCTh
(1) 3 s (2 3) * (4) = 3Imfor g

Who has the right to decide the structure, function and procedure of Cantonment
Board ?

a. Central Government

b. State Government

c. Zilla Parishad

d. Municipal Corporation
(1) aandb 2) a 3) ¢ (4) candd

86. Yeietieh! it fre anfaes & et et w7

(1) =feg i (2) wugmg
(3) - (4) wfusih
Which of following writ petition is about personal liberty ?
(1) Habeas Corpus (2) Mandamus
(3) Quo-warranto (4) Certiorari
87. 1 ITER §9¢ g Tohal &1 et S TSNl §3ad o4 A=
TYTIT HE TR,
(1) vrar= gfag™ (2) feamft wfseen wfea
(3) Trguddi= ew (4) ISTEr gishan wfeer
The Parliament can establish a common High Court for two or more States as
per the
(1) Constitution of India (2) Civil Procedure Code
(3) Order of the President (4) Criminal Procedure Code

FHeed HIHMETS T / SPACE FOR ROUGH WORK
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2)
(3)
(4)

Under which of the following Act “Lok Adalat” is established ?

1)

43

feamoft wfsean dfgar, 1908

foreft e wrferemor e, 1987
g PR T e, 1993
wiwert wiskan gfgar, 1973

The Civil Procedure Code, 1908

88.- e FTeTeTas TATHT Wi Terdeh! ShiIveal I HaTd shell S ?

(2) The Legal Services Authorities Act, 1987
(3) The Protection of Human Rights Act, 1993

(4)

The Criminal Procedure Code, 1973

Al8

89. SIS 6T :

A.

B.
C.

D.

ey
@)
3
4

gatea et feamfl ufrraad
arfter srferemtian
Hares e At faew s
e TG Bisert Tragatd
et rferemtian

Tated =TT 9o AR

A B & D

1 11 v 111

111 1 11 v

1 v i1 1

v 111 1 11

Match the following :

A.

B.

(1)
(2)
(3)
“@

Appellate Jurisdiction of 1.

Supreme Court-Civil Matters
Special Leave Petition by 1
Supreme Court

Appellate Jurisdiction of il
Supreme Court-Criminal Matters
Original Jurisdiction of v
Supreme Court

A B C D

i 1i v iii

111 1 11 v

il v 11l i

v il i ii

i. =9 131

ii, =g 133
iii, =8 134

iv. =8 136

Article 131
. Article 133
. Article 134

. Article 136

FHTAT HIHHSI RN / SPACE FOR ROUGH WORK
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e & Whd ?

(1) 39 fereer g W 3md

(2) Y HTE SHRCIR & The BT
(3) WY HIE AW THeU fer Aar
(4) =l gd

Al8

90.-wwaﬁww,ﬁawmmmﬁaﬂwmﬁ

While exercising power to do complete justice, the Supreme Court can grant

appropriate relief by considering

(1) Where there is manifest want of jurisdiction

(2) Where there is manifest illegality occurred

(3) Where some manifest injustice is shown to have resulted

(4) All the above

91, wrmTRe foeh gfea sl

. WHGTS HedT

9. GNP A= €

%. G Heed UM

g GmITh =
(1) A, +9%8 (2 FA,99d%
(38) H,9dE (4 9, ®9E
The social development implies

a. Welfare of human being

b. Rise in GNP

c. Improvement in social organisation

d. Social justice
(1) a,candd (2) a,bandc
(3) a,bandd (4) b,candd

92, ‘s FEeA’ & 9" HRA TsIHeEAa AL I 371R.

(1) g 2) TR

(3) Tmad! g (4) =mIeht TE
‘Economic Planning’ lies in the of the Indian Constitution.
(1) Union list (2) State list

(3) Concurrent list (4) None of these

el

A
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93, dgereR TR Q00y-oy AT Hige W i Wen e ndion wrmardt 5.

IR 01131 S < R LS D R e T B )
(1) ¥¥& M Coe (2) ¥¥& M Lol
(3) We¢ 3T Llue (4) Wee I Eue
The Tendulkar Committee estimated All India Poverty line for the year 2004-05 for
rural areas at Rs. and for urban areas at Rs. per capita per
month.
(1) 446 and 878 (2) 446 and 578
(3) 578 and 778 (4) 578 and 678
94. T¥ 20%8-3% ALY WA T Ieu=THE YEicTueht ShivTe IR IcaTeA 3TrshH fiesae ?
(1) sffrai aeg (2) HeTa™ @2 () i gifa
(3) Y Ieared (4) wEETE

In the year 2016-17 which of the following goods occupied 18! place in export
earnings in India ?

(1) Engineering goods (2) Gems and Jewellery

(3) Agricultural products (4) Textiles

95. U] Yo Ao G I HIU! Bt ?
A, i e
T, TR e o
. e foe
T ©HiHE g4l
(1) %&d A (2) 313U E (3) Wad &F (4) =F Te
Which were the main objective of fifth plan ?

a. Removal of poverty
b. Attainment of self-reliance
c¢. Development of industries
d. Growth with stability
(1) onlya (2) aandb (3) onlyc (4) all above

THeedT HIHMTE! ST / SPACE FOR ROUGH WORK P.T.O.
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96. TaawneHe fawaasfl vren awl gefa smea ?
A, e g4
9, s
F. SIS
8. ¥HiEdle
(1) s (2) w9
(3) IRl T (4) =R T
Which things are relevant to distributional inequality ?
a. Growth of population

b. Poverty
¢. Unemployment
d. Inflation
(1) aandb (2) onlyb
(3) all of the above , (4) none of the above
97. 3nf¥e fasam anf¥fe wew 7 3.
N, wigas A

9. foem A swe
. foshrar o At
g, faesfl =

(1) "9, %99S (2) #,99% 3 A, 998 4 HA,HIE

The economic factors in economic development are
a. Capital formation
b. Desire to develop
¢. Marketable surplus of agriculture
d. Foreign trade
(1) b,candd (2) a,bandc (3) a,bandd (4) a,candd

98. | 0% UL 7efiet |Te geIet Faitee g,
(1) omEm™ (2) dfvem s
(3) ToEIH (4) WeAHeH
The Infant Mortality Rate (IMR) was highest in 2011 in
(1) Assam (2) West Bengal
(3) Rajasthan (4) Madhya Pradesh

FHeed HIHTES! AT / SPACE FOR ROUGH WORK
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99, VAT G HISHTY /37eTS vl Jasi el ?

3, BN gt 3T 1™
§. 3. Bleed

%, ot . 2. e
2. A deheET
(1) w3

(3) 3, % Mg

(2) 3, 9 A F
(4) IH gd

Which economist has done the estimate of poverty in India ?

a. Dr. Dandekar and Rath
b. Dr. Dalton

¢. ShriP.D.Oza

d. Shri Lakadawala
(1) aonly
(3) a,candd

(2) a,bandc
(4) all above

100. TATd IV TehRE! SR 3TT@esd 7
Tt AT

GUEHTeHe SUSHTRT

BT ST

T, fuftm stemd

(1) %o 3

(3) %3

d 2 %

(2) 9 3T
(4) I Td

Which types of unemployment are found in India ?

a. Disguised unemployment
b. Structural unemployment
¢. Seasonal unemployment
d. Educated unemployment
(1) onlya
(3) onlyd

(2) bandc

(4) all above

TSI HHTEGE AN / SPACE FOR ROUGH WORK
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) wegfEqerned fafga oo fafire srfre e &M (16 9%) *. SHfcaheafaie ot a1
J HITETER e HTH hodTd o il SHUATAT ILM het IR, 3™ THA T 9 ATHR IHGARTET
AR R Shetear wlemed g e ey s sfufem-g2” wndiel wgdiaEn
FATE HUATT I F SI¥T ST HHTE Teh T HRIATHIAT 7107 /Tehell €93 Teh BN i1 eer=al
1erg o B,

(9) Tt yeuhETd! ST fafed ol do TueaHat SHCTRIC &Y ey fEien! Tod se TheT Harart
3 SITUITH TR 3718, AT THeT ettt AvaigeE U SiTue STRufEt WRT-1 THaeshs
= Freree A SOt AT IR, |

9. k. 201.

.. 201.

Rl SRS
Tl =TeT TS HOATETS! HIv Terd: T hed ?
(1) Tt care g (2) Y=g faemamR
(3) TS UHHEIEA U (4) TIITSFHS TRE
B YETE AR I 4(3) T THHlEd U 3 AR, e A1 Y SR ()
BISe. ITEqd WIS Y97 3. 201 FHHE SW-%A ‘(3)” B ades i
SEfhd HEA TR HEH AR,

O ®© @ @
319 TgdH WA SeAYfedehd el Yeish SRR qEET STR-SRHIh B qreTa S

ireiedl Iqbhaiie = o1 TeA-hATR IR Fefed aqe qoiqul Sifhd e
AT, TR Fart Shicod ITEa ATeTus aTard, Ui an vge! o anaes =13,

THeedT HIFTETS IR / SPACE FOR ROUGH WORK



